1.

01773

o] k27

@ 5

Al

>~

¥ +ax+b=09

8H7]'x:2£-1:_11——_—x:—3(3j_] [lﬂ’a_i_b



O AP A 42 — x4 1

sholat,

q_



|7t x

2x* +ax+b=09

o=t

S

PR

o2y

s

3.

:[L

O
=



ol 1o]tt. o274 x* 4 x+n =0

o

ol



=

+
2

2

@D 2x2-4x+1=0, x

=

™

+

@ 2x2-6x-5=0, x

~

+

@ x2-2x-2=0,x=1

=

= |~
<
AT =

—

@ x24+2x-11=0, x

+

0

® 2x2-5x4+1=0, x



6. (x+))(r+y-3)-28=0 W x+y 9 g BT TotoleL

E,l':x—ky:

':é,l':x+y:



T, OlAEAN 22 - 6x 41 =02 F 280, AT T, (a1p)? = A
, (@-pB)> =B oltt. A+ B 9] 3= otofet.

B
:



@ —4 ® 2 @ 4 ® 12

® -12



9.

of@ 29| §HA 2] PolE 20m W
#7k gich. g 919] A B Lol

D 1+ V2em @ 1+ V3em
@ 1+2+3cm ® 2+ V3em

® 1+ 2v2cm



10. thg 2T 2 YAz mope] e
ok 2% Apolo] Fo 1m 7} i 2L 17
SHESE Y 22 A9g Fe] ol 7t 30m?
k. 2] shze] Poly

%

® 3m @ 4m ® 5m
@ 6m ® Tm



AR SRTA=R S Vi

@ y=-x*+5x+2

@ y=ax>+bx+c(a#0)






13.

Ol A y = ax? O] e that A F $A L ALY

@ A0, 0)& FAH o7 sh= ZFolth,
@ yZol tiste] HiAolct.

@ a9 AUiglo] 245 1

@ a>0% o o}HE BEE, 4 <0 1 917 EE5}},

® y=ax* ¥y = —ax’ o] T ZE xF toto] A= tiFeldt.

A~
T



14.

NS y = 22 9 IRTE y 5

SEEDREL

O y=-(x-2)2

@ y=-x+2

@ y=-2x*

®y=x*-2



Qe

3
=

(9, &)

D 12

3 _ -
y:gnglj_aﬂﬂ-_%xé

S A W, k of g2?

@ 13 ® 14



